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4. (10%) FedEx has built its business on quick, dependable delivery of items being
shipped by air from one business to another. Its early advantages included global
tracking of shipments using Web technology. The advancement of Internet
technology has enabled competitors to become mush more sophisticated in order
tracking. In addition, the advent of dot.com business has put pressure on
increased ground transportation deliveries. Explain how this change in the
environment could affect FedEx’s operations strategy, especially relative to UPS,
which has a strong hold on the business-to-consumer ground delivery business.
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